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[N.B:- (1) Answer any FIVE questions in each of PART-A & PART-B and any two
divisions of each question in PART-C.

(2) Each question carries 2(two) marks in PART-A, 3(three) marks in PART-B and
5(five) marks for each division in PART-C.]

PART - A

If a random variable ‘X’ has the following distribution, find the value
of ‘a’

Write the mean of a binomial distribution.

Give two examples of Poisson distribution.

Write down the normal equation to fit a straight line y=ax+b

Find the slope of the tangent for the curve y = 4x2 at (1, 2)

State the conditions for the function y = f(x) to be maximum at x = a

Find the area bounded by the curve y = x2, the X-axis and ordinates
x=0and x =2

Find the complementary function of (D? — 1)y = e*
PART - B
If E(X)=12 and E(X?) = 200, find the value of var(X).

In a binomial distribution if n=8, p zi find its mean.

If the mean of a Poisson distribution is 4, what is the value of
variance?

Show that y = x2 + x + 1 is minimum at x = —%
. dy
Solve: x—=y.

Find the integrating factor of j—f +ytanx = x?

xS -
Solve: — —=+9%:=40

. Find the particular integral of (D2 —3D + 2)y = e~3*
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PART - C

17. (a) If a random variable ‘X’ has the following probability distribution

(b) A random variable X’ has the following probability distribution

X =3 6 9
Px=g | 111
| 6 2..L.3.

(c) Ten coins are tossed simultaneously. Find the probability of
getting atleast 7 heads.

18. (a) In a Poisson distribution, if 3P(x = 2) = P(X = 4), find (i) ‘A’ and
(ii) P(X = 0).

(b) In a normal distribution, if ‘X' has mean 80 and standard
deviation 10, find P(70 <X <100). Take P(0<Z < 1) = 0.3413
and P(0<Z <2)=04772.

19. (a) If the distance travelled by a particle in ‘t’ seconds is
s =2t3 4+ 3t2 — 72t + 1, find the acceleration when the velocity is
zero.

(b) Find the equation of the tangent and normal to the curve
y=6+x—x?at (2, 4).

() Find the maximum and  minimum  values  of
y =2x3 4+ 3x% —36x + 1.

20. (a) Find the volume of a sphere having radius ‘v’ by using
integration.

(b) Solve: (1 +e*)sec’ydy —e* tanydx =0

(c) Solve: -z—z + ytanx = 4xcosx

y (OF \ Y  ose
21. (a) Solve: —2+2-=+2y =0

(b) Solve: (D?+ 6D +5)y = 2e*
(c) Solve: (D?—4)y =sin2x
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